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Vil RS B 8 =5 H Q| H W
1 2/7 AF XA Y 424X 2 ZH| 4 36,000
2 2/7 | dRFURA Ao X & 3H| 3 20,000
3 2/11 | §E=FT2 /ot 29| X 7HEHZ| A2 FH| 9 232,000
4 2/12 | YR FTIAY 22X 2 ZH| 2 16,000
5 2/13 | @ F=TA Y AKX JAEH| 5 51,300
6 2/14 | YR FTIEY 22X ZH| 3 30,000
7 2/19 | R =ZTl2 gl 219 8 7HE3| A2 FH| 6 82,000
8 2/20 | YEFTIEY 2K ZH| 2 22,000
9 2/20 | EEFTAY AKX AEH| 2 30,000
10 2/21 | FFTAY 42X AZH| 5 33,000
11 2/21 | §FFTI2 R 2o N 7HEHD| AR FH| 8 160,000
12 2/22 | GFEFZTIZ ot 219 Gl 7tE 3| A2 FH| 7 100,000
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